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Description

I'm a bit confused to what the variable b_heritage96 is suppose to record. My interpretation is that 0 means people who have not
visited any of the heritage sites mentioned in previous questions and 1 means people that has mentioned visiting at least one of
these. However, checking my data | found for the b_heritage96 variable 13,598 "0" answers and 9,214 "1" answers (this is applying a
filter for b_hhresp_dv=1 since I've join the household and individual response files). The variable h_herfreq has a total of 13,598
answers covering options 1 to 5 which makes me think my interpretation is opposite to what | thought and 0 (in b_heritage96) is
people who has mentioned a heritage place and 1 people who has not. Can you clarify please? this changes completely the
interpretation of my results and | have a deadline soon.

Thanks.

History

#1 - 02/18/2013 02:19 PM - Redmine Admin
- Category changed from Data inconsistency to Data documentation
- Status changed from New to In Progress

- % Done changed from 0 to 50

Jenny,

It is the opposite. b_heritage96 is 1 (or TRUE) if "None of these things" were visited and 0 (or FALSE) if at least one of the eight types of historical
sites was visited.

Jakob

#2 - 02/18/2013 02:33 PM - Redmine Admin
- Status changed from In Progress to Closed

- % Done changed from 50 to 100
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